AP Statistics:  Ch 13:  

WS #1 13-1 Chi-Squared Goodness of Fit
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Solve all problems using a Chi-Square analysis. Show steps:
1. A zookeeper hypothesizes that changing the intensity of the light in the primate exhibits will reduce the amount of aggression between the baboons. In exhibit A, with a lower light intensity, he observes 36 incidences of aggression over a one-month period. In exhibit B, with normal lights, he observes 42 incidences of aggression. Should he support or reject his hypothesis?
Observed:

Expected:
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2. A high school, students can choose to enter one of three doors. Custodians noticed that door #3 was always being broken and they suggested that more students use that door because it has a hands-free opener. Science minded students counted the number of students entering each door to see if the custodians were right.  Door #1 had 60 students enter | Door #2 had 66 students enter | Door #3 had 80 students enter.  Were the custodians right?

 Observed:
Expected:
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3. A scientist predicts that the kittens born with a congenital birth defect will be 25% based on the hypothesis that it is from a recessive gene in that breed of cat. After surveying several litters, he found that 44 out of 125 kittens had the defect. Is his hypothesis correct?
Observed:

Expected:
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4. According to a school district’s records, 10% of their students normally fail the state math test (it is obviously not Hartland).  Suppose the district tries a new math textbook and takes a random sample of 200 students who are using the new math book. Based on their state test performance, do you think the new math book is significantly helpful? 
	 
	Passed State Test
	Failed State Test

	New Textbook
	188
	12


 Expected:
 

 

